

۲۳: شمس تلیف

سی و سی و سی

۲۰. افین

$$g'(m) = (2C_m(1+C_m) + \sqrt{2} \sin m) f'(C_m + \sqrt{2} C_m) \quad (1)$$

$$g'(\frac{\pi}{2}) = (2 \times 1 \times 2 - 1) f'(1+1) = 3 f'(2) = \sqrt{2} \Rightarrow f'(2) = \frac{\sqrt{2}}{3}$$

$$f(m) = \frac{(C_m+1)(C_m-2C_m+1)}{(1-C_m)(1+C_m)} = \frac{C_m-2C_m+1}{1-C_m} = \frac{1-C_m}{1-C_m} = 1$$

$$(f - 2g)'(m) = \left(\frac{C_m-2C_m+1}{1-C_m} - \frac{2}{1-C_m} \right) \cdot \left(\frac{C_m(C_m-1)}{1-C_m} \right)' \cdot \sin m$$

$$\Rightarrow (f - 2g)'(\frac{\sqrt{2}}{2}) = \sin \frac{\sqrt{2}}{2} = \frac{1}{2}$$

$$f'(\frac{c}{\varepsilon}) = ((\varepsilon m - c) \sqrt{a m})' = \varepsilon \sqrt{a m} = \varepsilon \frac{\sqrt{2a}}{2} = \frac{\sqrt{2a}}{2}$$

$$f'(\frac{r}{\varepsilon}) = (- (\varepsilon m - c) \sqrt{a m})' = - \varepsilon \sqrt{a m} = - \varepsilon \frac{\sqrt{2a}}{2} = - \frac{\sqrt{2a}}{2}$$

$$\Rightarrow \frac{\sqrt{2a}}{2} - (- \frac{\sqrt{2a}}{2}) = \sqrt{2a} = \sqrt{4} \Rightarrow a = \frac{1}{2}$$

$$y = -am + r \Rightarrow y = -\varepsilon a + r \Rightarrow f(\varepsilon) = -\varepsilon a + r$$

$$- \varepsilon a = -c - \sqrt{a} \Rightarrow f'(\varepsilon) = -\sqrt{a}$$

$$y = \frac{1}{v} m + \frac{c}{v} \Rightarrow \frac{am-1}{r m+1} = \frac{1}{v} m + \frac{c}{v} \Rightarrow v a m - v < r m + \frac{c}{v}$$

$$\Rightarrow am + (14 - va)m + 12c = 0 \Rightarrow (14 - va) - 12\varepsilon < 0 \Rightarrow 14 - va < 12 \Rightarrow va > 2$$

$$4m + (14 - va)m = 0 \Rightarrow m = 2$$

۱۲۵۸

۱۹ - va < 12 → a > 2

$$\left. \begin{aligned} f(r) &< 1 + ra - b < 0 \Rightarrow b < -4 \\ f'(r) &< c \times \Sigma + a < 0 \Rightarrow |a < -12| \end{aligned} \right\} \rightarrow b - a < -4 + 12 < 1-5 \quad (4)$$

$$f'(u) < n \sin^{n-1}(ur) \times r \times u \times Q(ur) \quad (5)$$

$$f(u) f'(u) < \frac{\sin^n(ur) \times n \sin^{n-1}(ur) \times r \times u \times Q(ur)}{\sin^{n-1}(ur) \times \sin(ur)} \Rightarrow$$

$$f(u) f'(u) < \sin^{r n - r}(ur) \times \sin(ur) \times n \times r$$

$$\lim_{u \rightarrow 0} \frac{\sin^{r n - r}(ur) \cdot \sin(ur) \times n \times r}{(r \sin \frac{u}{r})^n} \stackrel{\text{L'Hop.}}{=} \lim_{u \rightarrow 0} \frac{u^{\Sigma n - 1} \times r \times n \times r}{\left(\frac{u}{r}\right)^n} =$$

$$\frac{r^m \times r \times n \times r}{u^{r m}} = n r \sqrt{r} \Rightarrow \left\{ \begin{aligned} r^m \times n &= r^{\frac{q}{r}} \Rightarrow n = r^{\frac{q}{r}} \\ r^{m+2} &= r^{\frac{q}{r}} \Rightarrow |m+2 < \frac{q}{r}| \\ r^m &= \frac{\Sigma n - 1}{2+1} \\ r^m &= r^{\frac{r+2}{2+1}} \Rightarrow r + 2 < r + 2 < 1 \\ &\Rightarrow |2 \geq 1| \end{aligned} \right.$$

$$\Rightarrow n < r^1 \geq r, \quad m = \frac{r}{r} = c/d$$

$$r m + n < r + r < 19$$

$$\frac{\sqrt{m+1}}{\sqrt{m-1}} < r \Rightarrow \sqrt{m+1} < r \sqrt{m-1} \Rightarrow \sqrt{m} < c \Rightarrow |m < 9| \quad (1)$$

$$f'(u) < \frac{-r \frac{1}{r \sqrt{m}}}{(\sqrt{m}-1)^r} \Rightarrow f'(9) = \frac{-\frac{1}{c}}{\Sigma} < -\frac{1}{12} \Rightarrow f^{-1}(r) < \frac{1}{f'(9)} = \frac{1}{-\frac{1}{12}} = -12$$

$$f(-1) = 1(-a+1) \Rightarrow \text{نقطه} \checkmark, \frac{f(-1)-f(0)}{-1-0} = \frac{-1a+1}{-1} = 1 \quad (4)$$

$$f(0) = 1 \Rightarrow \boxed{a = -\frac{1}{r}}$$

$$f'(n) = r(n+1)^r (rn)^{\frac{1}{r}} + (-\frac{1}{r})(n+1)^r \Rightarrow$$

$$f'(\frac{1}{r}x-2) = r(2)^r (\frac{1}{r})^{\frac{1}{r}} + (-\frac{1}{r}) \times 1 = 12 - 2 \quad (1)$$

$$f(n) = \sin n C r n \Rightarrow \begin{cases} f(\frac{\pi}{2}) = \dots \\ f(\frac{\pi}{2}) = 1 \end{cases} \Rightarrow \text{نقطه} \checkmark, \frac{0-(-1)}{\frac{\pi}{2}-\frac{\pi}{2}} \quad (1)$$

$$g(n) = -C r n \Rightarrow \begin{cases} f(\frac{\pi}{2}) = \dots \\ f(\frac{\pi}{2}) = 1 \end{cases} \Rightarrow \text{نقطه} \checkmark, \frac{0-1}{\frac{\pi}{2}-\frac{\pi}{2}} = \frac{\pi}{2}$$

$$\Rightarrow \frac{-\frac{\pi}{2}}{\frac{\pi}{2}} = -1 \quad \text{نقطه} \checkmark \text{ توافق} \quad (2)$$